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g Determine the standard score =z of a person having an 10O of

4
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JUqc the table of areas under the standard normmal curve o derter
ing I3 = 12=Fr This fraction is the fracrtion of the standard normal ic

YE P(To < 1K) = P 3 eee <EHOV ) TME=-88))

12. What is the IO vou neced to have in order to surpass 825 of the p
the 83rd percentile of I .

a. To find out, first find the 3rd percentile of =z by entering O.83 (or t
of the table of lefi-tail =z arcas . thhen read off the z-valuce.

b. After vou find the S3rd percentile of =z convert this o the S3rd perc
B - AT

So whart is the E3rd percenrtile of I0OQ7
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16. Mean of X = 5

17. Sample standard deviation of x =
Note: Use a calculator program to get it then confirm in a separate i

-\/ n—l \/mean of x sSguares — sqguare«

W@f‘% = [ -GF =% fos-

18. Correlation R =
Note: Use a calculator program and confirm it is egual to
R =
mean of xy products — product of x mean by v mean/

J mean of x sguares — sguare of x mean \/ Imean ny sguan

& Rl = =
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Ouestions 24 through 28 concern 1T and normal based confidencs
CITOT. Throughout, we suppose a random sample is selected wit
robability from a population (the distriburtion of the population X so
nless it is specifically assumed in a problem). Suppose the samg
standard devialtjyon ISM‘/, the sample size is/S{‘f, and the population sizg

lLe

23a. Give the poinf esfirnare of the population mean based on this dat

— N _ £5T.
TYeicary & x = /L ;”ﬂi;fﬁmfgéf xX=)L

24. Give the cstunatcd Ina_rgln of error for vo ﬁstlmatc of #2358

R,/LE P4 &) LCW Of /s /7{ //\_' VALYE /5 /‘7(

iveNthe 955 confidence interval for

X=/2
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pulation mecan based

_=5_Givexhe 95% con
7"/_@(49(/\/;’7\/ AR /9(71‘/'9(49(/(}\’ /&Viﬁf/@d?ﬂ?f’

Y our answer o #25 is an inter from data withou
mean. wYWhat is the approxirnare probabiliry thhat such an interval cove
means out ol all possible intervals constructed from random samples.
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27 . If instead of sampling with replacement we sam
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NOTE [\ [IE 1410 FATE for Clltrrmal, . I Y 1 << N

28. If instecad of sampling with replacement we sampled wirficorer
answer o #2357 Cr’
IRCLED N [7)-
29 . If instead we had this same data but from a sample of only n = 6 .

Erzforvirr fo be close fo norrmmaf what number would we use in place of th
applicable degrees of freedom?

20. For a sample of n = 6 from a nrorrmal poprdarion give the 955 co
mean. Notice it is widened as comparced with the n = 50 case since 1
larger than s 7 VWV & but also the applicable T score exceeds 1 . 965. THE

EXACT, MEANING TT ACHIEVES EXACTIT. Y THE NOMINATY. C
IF THE POPULATION DISTRIBUTION IS INDEEID NORBIAT ..
ASCCTITEATE AMNID ALIL CALCTITL ATIONS ARE INEFINITE PRECILISI
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